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A parabola described by the equation y = xX-6x+c %s Questions 37 and 38 refer to the following
intersected exactly once in the xy-plane by the equation & .0 mation.
y=-L What is the value of ¢ ? O-'-'KZ«__&K C-I) :

To leave the Moon’s gravity well, a shuttle must reach

speeds of 8568 kilometers per hour. This speed is known 5
escape velocity because, if not reached, the shuttle would
not be able to escape the Moon'’s gravity and return to

Earth. J‘:. q
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In a certain function, a is a constant. The value of
the function is 5 when x = b. If the function can be
modeled using the equation flx) = ax?, what is the
value of the function when x = 3b ?
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5 = (L b __.CQ T If the space shuttle traveling at escape velocity has
Y ‘ 150 km left before reaching lunar orbit, in
v- Ob

approximately how many seconds will the shuttle
reach orbit? (Round your answer to the nearest

/ é‘ second) w o - I
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What is the space shuttle’s escape velocity in meters

‘ ©:b per second, rounded to the nearest hundred?
@9u¢ (0 len s @ (1 kilometer = 1000 meters)?
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